The Price Mechanism

In the market economy the distribution of goods and services is determined by the price mechanism.  Changes in price act as signals to producers about how much consumers want to buy and they adjust their production accordingly.  This ensures that the quantity of goods and services that consumers want to buy is the same as the quantity producers are supplying and that their resources are being used efficiently.  This is sometimes referred to as the ‘invisible hand’ that guides the economy without interference from the government.

Each market (E.g. housing, flower, fruit and vege, financial, shares, fish etc…) has both buyers and sellers.  i.e. buyers have a demand for a product while producers supply that product.  When supply and demand meet, this is what sets our prices.

Demand
Demand is the quantity that buyers are willing and able to buy at a particular price.  Although individuals will have their own demand, producers are looking at the demand for the market in general or the total demand from consumers.  Generally speaking, the market will be willing to buy more of a product at a lower price than at a higher price.  This is shown graphically as follows:
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Changes in the quantity demanded
The demand curve shows that when price changes there is a change in quantity demanded.  E.g. if bread increased from $1 to $2 the quantity demanded would decrease from 5,000 to 4,000.  This is known as contraction in demand.  If prices were to drop there would be an expansion in demand.
This only occurs when there is a change in price.
Mark the figures from the following table onto the graph below with appropriate labels.
	Price
	Quantity 1
	Quantity 2

	$3.00
	10,000
	15,000

	$2.50
	15,000
	20,000

	$2.00
	20,000
	25,000

	$1.50
	25,000
	30,000

	$1.00
	30,000
	35,000

	$0.50
	35,000
	40,000



What has happened to the above demand curve?

If you were to switch quantity 1 with quantity 2 what would be the effect?

Draw this on the graph below with appropriate diagrams.


Factors of demand
There are several factors that will influence consumer demand for products.  These include:
Household income

Why would household income affect demand?

Tastes and preferences

Why would tastes and preferences influence demand?

Price of substitutes 
Substitutes are alternative products that can be used to satisfy the same want.  E.g. Pepsi instead of Coke (even though it is inferior).  Or, different brands of petrol.  
If the price for one good increases, you will simply go to the vendor of another similar good and hence substitute what you would have bought with something else.  

Why would the price of substitute goods influence demand?

Using the following example, how might the price of a substitute affect demand? Show this on the graph below.

People buy butter to cook their food with, however, the cows have put their foot down and refuse to be milked using the archaic methods employed by farmers today.  Enough is enough!  As a result the price of butter goes up.  On the demand curve below, what would happen to margarine?




Demand for butter




Demand for margarine





Price of complementary goods

Complementary goods are those goods that go with something else.  E.g. Meat Pies are complementary with tomato sauce.  That is, you will generally buy sauce if you buy a pie.  Another example might be bikes and helmets.  So, if one good decreases in cost (generally the more expensive one) there will be an increase in the demand of the complementary good.

Price of Bikes goes down



Demand for helmets

In your experience what influences your demand for goods and services?
Activity

On the diagrams below show an increase/decrease in demand




On the diagrams below show the effect of the following on demand


Studies show chocolate has health 


Carrots have been proven to not

Benefits





help your eyesight at all

Price of tea increases




Price of computers increases


A rise in private school fees occurs


Petrol prices increase

Supply

Supply is the exact opposite to demand and takes the perspective of the business owners instead of the consumers.  Producers will supply goods to the public with the incentive of making a profit.  They will therefore not supply something if it is not worth their while.
Using the diagram we used with Demand we can see that supply is opposite.  The more money you get for your goods as a business owner the more you want to supply to the market.  
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Factors influencing supply

· Production costs – An increase in the costs of production E.g. wage increases will cause producers to supply less at each price as production is less profitable.
· Technology – An improvement in technology may mean it is cheaper and more efficient to produce certain goods.  Therefore, supply of this good would increase

· Weather – Droughts will affect how much farmers can supply.  Think about the recent drought.  Was there as much wheat supplied to the market as necessary?  What happened to supply?

· Taxes and subsidies – The government can influence the economy through taxes and subsidies.  E.g. if the govt gave tax cuts to businesses they would be able to produce more, hence supply would move to the right.
Activity
On the following graphs show an increase in supply and an increase in quantity supplied.




On the diagrams below show the effect on supply


Hail damaged tomato crops
Parents see Private schools as more effective


Sales tax on cars is removed



An improvement in technology
Market equilibrium

Markets determine prices where the demand and supply curves meet.  Its like a compromise between the buyers and sellers.  This is what we call the equilibrium price.  This is where there is no oversupply (surplus) or shortage of products.  It means that businesses are producing just as many as consumers are prepared to buy.
Shortage
At any price below equilibrium there will be a shortage of products.  In other words, suppliers will not supply enough to meet the demand of consumers at that price.  


Surplus

At any point above the equilibrium point the quantity demanded would be way less than what producers have produced and hence people won’t buy the excess.  This leaves businesses with a surplus of their products.  
For a business to have either a shortage or a surplus would be inefficient.  The basic principle underpinning economics in a market economy is that businesses want to make money the most efficient way that they can.

Use the diagram below to answer the following questions
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At a price of $2


The quantity demanded would be …………………


The quantity supplied would be ………………..


There would be a shortage/surplus of …………………


Price will…………. Because…………………………………………………...

At a price of $4


The quantity demanded would be …………………


The quantity supplied would be ………………..


There would be a shortage/surplus of …………………


Price will…………. Because…………………………………………………...

At a equilibrium 


The quantity demanded would be …………………


The quantity supplied would be ………………..


There would be a shortage/surplus of …………………


Price will…………. Because…………………………………………………...
The diagram demonstrates how a surplus leads to the ‘invisible hand’ forcing prices to the equilibrium point.  How might a shortage do the same thing?

Changes in price

Price changes when either demand or supply shifts.  In every market demand and supply shifts when conditions in the market change.  

Shifts in demand

When demand increases or decreases it will affect the market price.  As seen in the diagram below, demand has moved to the left (decreased) and hence the equilibrium point has moved down.  This will mean that the price has moved from $3.90 to $3.10.
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How would you show an increase in demand?
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Shifts in supply
Supply follows the same principle when it shifts.  On the graphs below show an increase and decrease in supply and the effect of this on price.



Increase in supply




Decrease in supply

A note on price
You will notice that price is not a factor that influences demand or supply, rather, it is a result of a shift in demand or supply.  

Activity

Explain the difference (including diagram) between the ways an increase in demand and an expansion of demand are represented in the competitive market model

Describe the response of consumers to a decrease in supply of tomatoes

Draw diagrams and mark a new curve to show the following shifts in demand for bread in the Unley bread market.  Draw arrows to indicate the resulting changes in price and quantity.

Consumers prefer bread rolls

Butter and margarine increase in price

Nutritionists recommend kids eat bread

Draw diagrams and mark a new curve to show the following shifts in supply of bread to the Unley bread market.  Draw arrows to indicate the resulting changes in price and quantity.

Wheat prices decrease substantially

A new bakery opens in Unley

A new tax on bread makers is imposed

Government interference in the price mechanism
The government has a great deal of control over our economy through the many policies that they make.  On specific markets the government can introduce policy to control the prices that firms charge for their products.  However this leads to a distortion of the market mechanism and it is rare that the government will intervene in the market.
Floor price

The government may set a minimum price that suppliers can sell their product for.  This is done to ensure that suppliers get an adequate income.  Even if the equilibrium price is below the floor price the suppliers can not sell it cheaper.  

An example of this was seen during the 1980’s when the Australian wool market plummeted.  The price for wool was very very low and the sheep farmers were not making any money on their wool.  As a result the government stepped in and told them that they were only allowed to sell the wool at a certain price while the equilibrium price continued to fall.  This resulted in a large surplus or wool because consumers would only buy a certain amount at the increased cost.  The government then purchased this surplus wool and kept it in storehouses until the price went up when they subsequently sold it.

This can be seen graphically below.



4


            Floor price








Mark on a surplus
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How much were consumers  
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willing to buy? ……………….








How much did the government          
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have to buy? ………………….
Ceiling price
Ceiling prices are the opposite to floor prices.  This is where the government will set a maximum price at which supplier may sell their products.  It is generally done for products that people need that are too expensive to produce.  The government will generally subsidise the suppliers in this instance.

An example of this would be the market for electric wheelchairs.  The market mechanism may have an equilibrium point at $30,000 for one electric wheelchair, however, it is not possible for many quadriplegic’s to purchase a wheelchair for this price.  The government will then step in and set a maximum price the suppliers can charge for the product.  E.g. $5,000.  This is done so to make the wheelchairs, which are a necessity, more readily available to the general public.  It is seen as the greater good.

This can be seen graphically below.
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As the price control prevents the price mechanism from increasing prices, the shortage will be permanent.  This generally leads to that product being rationed as has occurred in the market for housing trust rental accommodation.  Another possible outcome is that a black market will develop.

What is a black market?
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